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Order of Operations (E)

Perform the operations in the correct order.

A5400 061 219467 6 (175D xhS -2 382

. 8.34+9.4— ((1.8 x8.5) +8.5) 7. (14—26) +{3.6+1.2) + 84
(A5G 10493 1.3 8.14+9.248.7x3+2.7

5% (2% 1.5)—(0.2x6) 9. (9.4—04)+(5.841.3—5.6)
. (6x1.5)= (5% (2.8+1.4)) 10. 7.9 % (6.6 —4.5+9.9%
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Order of Operations (B)

Perform the operations in the correct order.

i - {39173 3.4)) x3.3) & {1346 56584 -6
2.9.4%(9.5+3.8)+5.7—4.5 7. 5.7+29+02—(9.9+1.1)
% 184624344 03+82 8. 9.3—(5.6— ((5x0.5) x 0.6))
£ 534 1.3--(4435-63) 9.8.4—(0.1+1.6+5.2+0.8)
5. (3.840.6) x (7.5 x (5.4 —3.8)) 10. 4746 x 5.9 — (5—0.6)
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